

TEMPLETON CRICKET CLUB

ANNUAL REPORT

TEMPLETON CRICKET CLUB

Affiliated R.D.C.A.

President

Mr. R. Lindroth

Vice-President

Mr. J. Cassidy

Registration Secretary

Mr. P. Owen

Treasurer

Mr. P. Denton

Social Secretary

Mr. I. Blakebrough

Property Steward

Mr. P. Wharton

Selection Committee

Messrs. P. Owen (Chairman)

lection committee

G. Williams, P. Denton, P. Cordeiro C. Harper, P. Wharton (part time).

Delegates to R.D.C.A.

Senior - Messrs. N. Barnfield, P.Denton.

I. Blakebrough (Proxy).

Junior - Messrs. J. Cassidy, N. Barnfield.

Social Committee

Messrs. I. Blakebrough (Chairman)

K. Lowe, D. Cordes.

Mesdames J. Denton, L. Barnfield.

Junior Coaches

U/14 - 4 N. Barnfield

U/12 - 3 P. Denton

U/12 - 5 J. Nightingale, M. Crompton.

Auditor

Mr. Colin Thompson.

General Secretary

Mr. Norman T. Barnfield,

11 Dewsbury Court, Wantirna. 3152 Telephone 221 6075

NOTICE TO MEMBERS

The first Annual General Meeting of the Templeton Cricket Club will be held at the Templeton Reserve on Friday, 15th June, 1984, commencing at 8 pm.

AGENDA

- 1. To confirm the Minutes of the public meeting held at the Templeton Reserve on Friday, 15th July, 1983.
- 2. To receive and adopt the Annual Report and Financial Statements 1983/1984.
- 3. Election of Office Bearers 1984/1985.
- 4. General Business.

Templeton Cricket Club wishes to thank the following sponsors for their support.

WARD SPINKS ESTATE AGENTS Senior and Junior Trophies.

VICTORIAN CRICKET ASSOCIATION \$500 Grant.

GLENN SMITH FORD \$200

INDOOR CRICKET ARENAS \$100

McDONALDS RESTAURANTS Vouchers, Drinks etc.

PRESIDENT'S REPORT

As we come to the end of the first season of the Templeton Cricket Club I am glad to express my great pleasure at our performance, both on and off the field. When our Club was formed very few of our players knew each other, however as the season progressed the social activities gave us a chance to get to know each other better and this resulted in an improvement in our performance on the field.

Our three junior teams started off slowly but as the season progressed they improved with each game.

The three senior teams also started off slowly but improved with time, to have the first eleven go through to the finals, which is quite an achievement in our first year. Our junior teams require help in regards to coaching and team management. Any parent willing to help please let us know.

We congratulate Rob Gregory on his performance throughout the season. He came second in the overall B Grade vote count with the R.D.C.A.

On behalf of the Club I would like to thank the Templeton Committee of Management for their confidence in us and in allocating the use of the grounds and rooms for our use. We are grateful for their support and advice which have contributed in establishing the Club on a firm foundation.

We thank the Social Secretary and his Committee for all the hard work they have done to enable us to meet all our heavy financial obligations in this first year. Special thanks to Lyn and Judy for all the hard work they have done throughout the year.

I especially wish to thank Norm Barnfield and Paul Denton for the valuable contribution they have made in helping to form the Club and the hard work throughout the year.

It has been my privilege to serve as your President in the Club's inaugural year. I express my warm appreciation to all club members and especially to the members of the Executive Committee for the support and encouragement through the year.

This season has seen a high standard of sportsmanship develop in the Club and it is my hope and belief that this will continue in the future seasons.

Russell Lindroth President.

GENERAL SECRETARY'S REPORT

Dear Members,

I have pleasure in presenting the Club's Annual Report and Financial Statements for 1983/1984 at this our 1st Annual General Meeting.

Templeton Cricket Club has proven its worth both on and off the field this season, certainly the success of our senior team making the finals and the solid support most club members gave our Social Committee at fund raising ventures provides a strong grounding for the future. Considering the fact this Club started season 1983/1984 with little funds, only a budget carefully worked out in every detail, ensured overspending was kept to a minimum. Hard working executive backed up by many unselfish helpers has, as you look through your Annual Report, enabled us to finish the season on a solid financial basis.

The future of Templeton Cricket Club is now of the upmost importance, obviously looking to juniors coming through to senior participation is critical. Training with only one pitch made coaching almost impossible last season with almost 50 juniors attending on a Wednesday night. Executive members have made representations to local councillors and council officers with the aim of training pitches being erected at the Templeton Reserve before the start of season 1984/1985. A report on this matter will be given on June 15th.

We as a Club cannot be satisfied with the success of the past season. Every member must ensure they assist where possible, obviously most important areas are:-

Encouraging cricketers to Templeton.

Supporting social functions.

Encouraging sponsorships.

(Maybe your firm would like to donate items for raffles).

Encouraging local shopkeepers to support YOUR Club.

(If you can assist Club members through your work, advertise in the club rooms. There is plenty of blank walls that can cater for this purpose).

USE YOUR INITIATIVE, HELP THE CLUB GROW

Sponsorship from Ward Spinks Estate Agents supplying all Club trophies, was especially pleasing. Assistance from local companies is what we are after and special thanks must go to Mr. Don Martin for his efforts on our behalf. Incidentally, Don has told us Ward Spinks will continue sponsorship next season. Great news already for 1984/1985.

Concluding my report, I would like to personally thank the Templeton Committee of Management for their confidence in our ability to establish Templeton Cricket Club, especially Pat Meehan and Merrilyn Whitecross, whose assistance proved invaluable over the past twelve months, and to my family who have supported me fully in my endeavours to achieve what I hope will be the best run club in the Ringwood District Cricket Association.

Norman T. Barnfield. General Secretary.

TREASURER'S REPORT

Dear Members,

On looking back to the early days when we first decided to form Templeton Cricket Club, we knew that the task ahead would not be an easy one and that the job of Treasurer could provide some of the biggest headaches and still I went ahead and accepted the position.

Having successfully completed our first season (financially that is) we can all look forward to an exciting and prosperous future with the Club.

Any club, let alone a club in its first season needs the support of its members and any sponsors it is able to obtain. We as a Club were very fortunate to receive sponsorship and we owe a great deal to the following people:-

Ward Spinks Estate Agents Glenn Smith Ford, Ferntree Gully. Indoor Cricket Arenas Cricket Union of Victoria.

I would ask each and every member of the Club to support the people who have supported you during the season. I feel that a very special mention should go to Mr. Don Martin from Ward Spinks, who not only donated the trophies for both junior and senior sides but will continue to do so in the future. Sponsors such as this will certainly ease the burden for the Committee in the seasons ahead. I sincerely urge all members to contact Ward Spinks for all your real estate requirements in the future.

Our Club or any club for that matter will only survive as long as they have a good Social Committee and I feel sure that there would not be any one amongst us that could fault the performance of Ian Blakebrough's Social Committee this season. One should not individualise when thanking people however there are two very special people who deserve all the thanks and praise that we as a Club can give them and they are Judy and Lyn who worked tirelessly throughout the year in the canteen.

To the members who paid their subs promptly, may I thank them and also to the Junior Team Managers and Captains of the senior sides who collected all the weekly subs, thank you also. Last but not least I would like to thank the Committee for their support and assistance given to me during the season.

To each of the trophy winners in all grades, both junior and senior, may I offer my heartiest congratulations on a job well done.

I have much pleasure in presenting for your approval the Templeton Cricket Club's first Annual Financial Statement and Balance Sheet for season 1983/1984.

Paul Denton Treasurer.

TREASURER'S REPORT

TEMPLETON CRICKET CLUB

FINANCIAL STATEMENT AND BALANCE SHEET SEASON 1983/1984

INCOME		EXPENDITURE	
Senior Subscriptions	\$3787.00	RDCA Registration & Affil.Fees	\$ 305.00
Junior Subscriptions	1034.00	Indoor Centre	210.00
Social Committee	2000.00	Vote Count Night	12.00
Banquet (China Court)	904.50	Senior Presentation Night	74.00
Donation Glenn Smith Ford	200.00	Computer & Fines	148.79
Raffles	219.00	Balls	798.51
Sale of Club Caps	528.00	Sub Total	\$1548.30
Repayment of advance to		Templeton C.O.M.	
Social Committee	249.60	Rental Ground & Pavillion	\$ 794.00
Hire of Club Equipment	85.00	Hire of Upper Section	25.00
Grant from C.U.O.V.	500.00	Sub Total	\$ 819.00
Sale of equipment	78.60	Capital Expenditure	
Junior Pie Night	45.00	Notice Board	\$ 47.16
Sale of Club Photos	28.00	Purchase Fridge	30.00
Donation from I.C.A.	100.00	Purchase Flags & Ropes	22.89
Other Income	<u>41.80</u>	Equipment (A Marks)	470.75
		Practice Net	99.80
		Equipment (F Maggs)	1965.40
		Sub Total	\$2636.00
		Social Functions	
		Banquet (China Court)	\$ 737.00
		Advance Social Committee	349.60
		Junior Pie Night	44.25
		Invited Guests at Presentation	
		Night	88.00
		Sub Total	\$1218.85
		General Expenses	
		Bank Fees	\$ 10.26
		Ground Hire (Fair Park)	150.00
		Phone Connection	43.75
		Purchase Caps	464.00
		Telephone Account	50.98
		Rubber Stamps	20.80
		Trophies	43.60
		Senior B.B.Q.	20.00
		Team Photos	35.00
		Sub Total	\$ 838.39
		Petty Cash	d 12.07
		Postage & Stationery	\$ 13.87
		Score Board Material	12.70
		Sand B. B. C. Bornin	12.00
		B.B.Q. Repair	10.00
		Key Cutting	7.75 30.00
		Flowers	
		Purchase of Cupboard	12.00
		Other Expenses	6.49
		Sub Total	\$ 104.81
		Umpires	277.00
	40000 50	Balance of Bank Account	2358.15
	\$9800.50		\$9800.50

Certified Correct subject to Audit. P. Denton, Hon. Treasurer. Templeton Cricket Club.

REGISTRATION SECRETARY'S REPORT

In season 1983/84, Templeton Cricket Club had 104 registered players - 50 senior and 54 junior. Clearances were successfully obtained for 15 senior and 11 junior players. Because we were a newly formed club, paper work was required for every player. After this initial hurdle, the season ran smoothly. The Club incurred computer fines totalling \$21.00 over the season. With more attention to correct spelling, particularly in away games, we should be able to contain these fines to a minimum.

I wish to thank those people responsible for completing the match result sheets during the season as it made my jcb that much easier. With the promise of further expansion of the Club in years to come, your continued assistance in these areas will be invaluable.

A special note of thanks to my wife, Andrea, for her help and encouragement over the past year.

Paul Owen Registration Secretary.

SOCIAL SECRETARY'S REPORT

Season 1983/84 commenced socially with a banquet at China Court Restaurant which was well supported by approximately seventy members and friends. Other functions held during the year included a car rally ending with a barbecue at Maroondah Dam. Our Christmas break-up in December was a beef-on-the-spit which was an enormous success and our Saturday night barbecues were generally well attended. The climax of the season was the senior presentation dinner dance held at the Thistle Restaurant in Sassafras.

Our fund raising efforts during the season were helped enormously by donations from the following people and companies -

Mrs. Diane Hurford
Mr. Ian Morrison
Mr. Crompton
Denroy Meats
McDonalds Family Restaurants
Cordeiro Motors (Plino and Clem)
The Thistle Restaurant

Without the support of these people our task would have been much more difficult.

In this our inaugural year the task of raising the funds required fell heavily upon the shoulders of the very hard working and enthusiastic committee. I would like to take this opportunity to thank Judy Denton, Lyn Barnfield, Rosemary Lindroth, Kelvin Lowe and Doug Cordes for their tireless work throughout the season.

It has been my pleasure to have been Social Secretary in the inaugural year of the Club. I hope that you, the members, will continue to support the Social Committee in the future as you have done in the past.

It gives me great pleasure to present for your approval the Social Committee Balance Sheet for Season 1983/1984.

Ian Blakebrough Social Secretary.

CANTEEN REPORT

On behalf of the ladies on the canteen I would firstly like to offer our congratulations to all our teams and officials for a magnificent job in our first year at Templeton.

The enthusiasm of parents and all concerned has been a great boost to all our dedicated officials and if the first year is any indication, well THE SKY'S THE LIMIT for the year ahead.

The canteen ran very smoothly with no major hassles. With the purchase of a freezer, fridge etc., out of the way, we can now look foward to helping furnish our clubrooms with pool-table etc., during the next season. This year we raised quite a lot of money which will be handed over to the Executive shortly.

I would like to thank, on behalf of the Club, Lyn Barnfield for all her endless help. To Diane Hurford for supplying the Club all season with bread and to the many others who helped in anyway during the year.

Next year we are looking forward to another great season, meeting new mums who will assist us in running the canteen on a roster basis.

Thank you once again to all in the Club for their loyalty and patronage. I personally enjoyed being associated with this great up and coming Club and am very proud to be associated with such a great crew.

Judy Denton Ladies Canteen.

SOCIAL COMMITTEE REPORT

TEMPLETON CRICKET CLUB

FINANCIAL STATEMENT AND BALANCE SHEET SEASON 1983/1984

INCOME		EXPENDITURE	
General Committee Advance Canteen Family Sunday B.B.Q. Senior Pie Night Senior Presentation Night Raffles Lamington Drive Car Rally Beef-on-spit	\$ 100.00 6319.15 250.00 95.00 2211.00 127.00 946.50 80.00 128.00	Payment to General Committee Withers (Canteen Stock) Peters Ice-Cream Cordial Fibre Makers Four'N'Twenty Pies Pie Warmer (Rental) B.B.Q. Meat B.B.Q. Repairs B.B.Q. Sundries Canteen Sundries Canteen Sundries Senior Presentation Night Bus Hire Snowball Factory Phoenix Biscuits King Village Motal Purchase Trestle Club Badges Purchase Freezer Christmas Hamper Junior Pie Night Bank Fees	\$2000.00 1260.30 205.58 43.00 1956.60 356.87 12.50 541.37 10.00 21.00 40.07 2002.97 50.00 247.00 424.40 200.00 5.00 85.00 255.00 16.00 10.00
	\$10.056.6E	Bank Balance as per Statement	503.49
	\$10,256.65		\$10,256.65

Certified Correct Subject to Audit

L. Barnfield Social Committee Treasurer Templeton Cricket Club.

1st ELEVEN CAPTAIN'S REPORT

The 1983/1984 season proved to be a successful season for the 1st Eleven. The challenge we faced was whether we could hold our own in B Grade and as the results show we proved to be one of the powers.

During the season we had some fine individual performances — as listed in the 1st Eleven statistics. I do not believe any one batsman stood out as every member of the team played one or more valuable innings. Our bowling revolved mainly around Rob Gregory, Trevor Tormey and myself and looking back I realize several other bowlers were not given much opportunity to prove themselves.

I felt we struggled to combine as a team for a large part of the season and this reflected in our on-field performances and training. However, late in the season the team's attitude changed and this was reflected in our results in the last three home and away games. In each game we fought hard to win and it was tremendous to see the fighting spirit we had developed.

My only disappointment was the way we played in the Finals. I believe we did not play to the best of our ability and I am sure all the members of the team were disappointed with our effort.

Our major weakness during the year was the lack of depth we had in our playing ranks which resulted in the lack of pressure being put on the 1st Eleven players. Our Club must recruit well if we are to continue to improve and it is up to each and every one of us to recruit.

To close I would like to thank all the players who contributed to our success during the season. There are also two ladies I would like to thank. Lyn Barnfield and Judy Denton did a terrific job with the afternoon teas and on behalf of the players I would like to thank you for your support.

G. Williams 1st Eleven Captain.

1st X1 TEAM RESULTS

Captain	G. Williams
Vice-Captain	T. Tormey
Scorer	I. Blakebrough

Summary of Matches -

		_		
V. Heathmont Baptists	10/85	Templeton	9/173	WON
V. Heathmont	7/59	Templeton	3/190 ·	MOM
V. Yarra Valley	10/46	Templeton	4/87	WON
V. Ringwood	7/231	Templeton	10/71	Lost
V. Heathmont Uniting	10/138	10		
v. Headimone officing	5/59	Templeton	8/214	WON
V. Sth. Warrandyte	6/90	Templeton	10/147	Drawn (A/C Weather)
V. Glen Park	10/172	Templeton	10/201	
v. Gran rank	20, 2.2	1011,000	1/93	WON
V. Ringwood United	6/271	Templeton	9/263	Lost
V. Fastfield	10/120		•	
V. Habeliela	10/111	Templeton	10/140	WON
V. Ringwood R.S.L.	9/162	Templeton	7/195	WON
V. Johnson Park	10/120	<u>_</u>	•	
v. compon ran	7/84	Templeton	10/220	WON
	7704	remprecen	10/ 220	
Semi-Final -				
V. Ringwood	7/305	Templeton	10/131	Lost
, , , , , , , , , , , , , , , , , , , ,	.,		•	

Players reaching 50 or over in an Innings -

N. Barnfield	81	v	Ringwood United
S. Pendrey	52 x	v	Heathmont
E. Hicks	64	v	Heathmont
G. Williams	62	V	Heathmont Baptists
J. Armel	56	v	Ringwood R.S.L.
W. Groenewald	100x	v	Heathmont Uniting
D. Tattersall	57	V	Glen Park
	57 x	v	Glen Park
	57	v	Ringwood (Semi-final)
M. Banbury	53	v	Ringwood R.S.L.

Players taking 5 or more wickets in an Innings -

R. Gregory 6/54 v Heathmont Uniting 5/27 v Eastfield.

Highest Team Total - 9/263 v Ringwood United

<u>Lowest Team Total</u> - 10/71 v Ringwood

Most Runs - W. Groenewald 232 Runs

<u>Most Wickets</u> - R. Gregory 38

<u>Highest Individual Score</u> - W. Groenewald 100 N/Out v Heathmont Uniting

Most Catches - J. Arnel 24

<u>Wicket Partnerships</u> -

lst	N.	Barnfield	_	G.	Bell	93	V	Ringwood United
2nd	N.	Barnfield	-	W.	Groenewald	68	V	Johnson Park
3rd	s.	Pendrey	_	E.	Hicks	119	V	Heathmont
4th	T.	Andrews	_	E.	Hicks	44	v	Johnson Park
5th	G.	Williams	-	T.	Tormey	70	V	Heathmont Baptists
6th	R.	Gregory	_	G.	Williams	68	V	Heathmont Baptists
7th	Μ.	Banbury	-	J.	Arnel	81	V	Ringwood R.S.L.
8th	J.	Cassidy	_	R.	Gregory	46	v	Glen Park
9th	G.	Williams		P.	Meehan	30	V	Eastfield
10th	P.	Owen	_	R.	Gregory	42	V	Johnson Park

Games Played - 12. Won 8. Drawn 1. Lost 3.

<u>Individual Batting Performances</u> -

Batsman	<u>Innings</u>	Not Outs	H/Score	Runs	<u>Average</u>
W. Groenewald	9	2	100x	232	33.14
D. Tattersall	9	1	57x	210	26.25
T. Andrews	2	_	28	48	24
N. Barnfield	9		81	200	22.22
S. Pendrey	11	2	52x	200	22.22
E. Hicks	10	-	64	219	21.9
G. Williams	10	2	62	158	19.75
R. Gregory	11	3	44	148	18.5
J. Arnel	9	2	56x	118	16.85
M. Banbury	8	2	53	101	16.83
G. Bell	4	-	29	63	15.75
M. Pendrey	2	-	29	29	14.5
T. Tormey	9	2	31	74	10.57
P. Owen	8	-	32	79	9.87
P. Meehan	3	1	14	18	9.0
J. Cassidy	2	-	12	16	8.0
J. Hilton	1	-	2	2	2.0
G. Meier	1	1	2x	2	
C. Harper	1	1	2x	2	
R. Laidlaw	2	1	0x	0	

<u>Bowler</u>	<u>Overs</u>	Runs	<u>Wickets</u>	<u>Average</u>
G. Williams	183	500	36	13.88
R. Gregory	221	573	38	15.07
T. Tormey	152	432	22	19.63
P. Owen	52	172	8	21.5
E. Hicks	42	146	5	29.2
P. Meehan	17	57	2	28.5
N. Barnfield	2	9	1	9
T. Andrews	4	22	1	22
W. Groenewald	1	0	1	-
S. Pendrey	11	40	0	_

B RESERVE CAPTAIN'S REPORT

The 1983/1984 season has been a good year for the 2nd Eleven Team. Although the team won only four of the eleven games in which they participated, they were never beaten outright which is more than several sides in the competition can claim.

The team this season was a very experienced side in years if not in cricket ability and I feel that this is the only reason that we did not win more games. With a blending of youth and older experienced players the 2nd Eleven will be a force to be reckoned with throughout the association in the seasons ahead.

There were several outstanding performances throughout the year and I would personally like to take this opportunity to congratulate the following players -

John Cassidy for a fine 97 not out against Eastfield.

Terry Andrews for two great innings of 101 against Ringwood Uniting and 57 not out against Ringwood R.S.L.

John Nightingale for a magnificent individual bowling performance in taking 9/38 against Ringwood R.S.L. in their first innings.

There were some other very good performances during the season but I feel that the three abovementioned performances were the outstanding ones for the season.

In concluding, I would like to thank all members of the side for their efforts and assistance throughout the year and encourage them to get right behind the Club next season and make the Templeton Cricket Club the premier club within the Ringwood and District Cricket Association.

P. Denton B Reserve Captain.

B RESERVE TEAM RESULTS

Captain Vice-Captain	P. Denton A. Jackman			
Summary of Matches -				
V. Heathmont Baptists	10/32	Templeton	10/89 5/31	WON
V. Heathmont	9/78	Templeton	10/62	Lost
V. Yarra Valley	9/101	Templeton	7/178	WON
V. Ringwood	6/334	Templeton	9/268	Lost
V. Heathmont Uniting	10/87	Templeton	9/53	
	4/46	-	9/92	Lost
V. Sth. Warrandyte	9/211	Templeton	10/89	
			4/62	Lost
V. Glen Park	8/301	Templeton	10/77	
			8/110	Lost
V. Ringwood Uniting	9/302	Templeton	10/266	Lost
V. Eastfield	10/152	Templeton	10/263	WON
V. Ringwood R.S.L.	10/80	Templeton	3/161	
	5/131			WON
V. Johnson Park	5/361	Templeton	10/120	
			2/46	Lost

Games Played - 11. Won 4. Lost 7.

Players reaching 50 or over in an Innings -

J.	Cassidy	97x	v	Eastfield
P.	Page	50x	v	Yarra Valley
C.	Harper	56	v	Ringwood
T.	Andrews	101	v	Ringwood Uniting
		58x	v	Ringwood R.S.L.

Players taking 5 or more wickets in an innings -

J. Nightingale	9/38	v	Ringwood R.S.L.
A. Jackman	5/23	v	Heathmont
	5/85	v	Ringwood Uniting
P. Denton	6/36	v	Eastfield
P. Page	5/119	v	Glen Park

<u>Highest Team Total</u> - 9/268 v Ringwood

Lowest Team Total - 9/53 v Heathmont Uniting

Most Runs - J. Cassidy 221.

Most Wickets - P. Denton 24.

Highest Score - T. Andrews 101.

Most Catches - J. Cassidy 9.

Wicket Partnerships -

lst	G. Bell	_	J. Cassidy	87	v	Ringwood
2nd	N. Barnfield	-	C. Harper	26	v	Ringwood R.S.L.
3rd	C. Harper	-	T. Andrews	52	V	Ringwood R.S.L.
4th	A. Jackman	_	C. Harper	58	V	Ringwood
5th	P. Denton	-	C. Harper	48	V	Ringwood
6th	P. Denton	_	P. Page	73	V	Yarra Valley
7th	P. Denton	-	J. Cassidy	70	v	Eastfield
8th	M. Wright	-	G. Ofield	25	v	Heathmont Baptists
9th	T. Andrews	_	R. Lindroth	84	v	Ringwood Uniting
10 t	J. Cassidy		R. Lindroth	46	V	Eastfield.

Individual Batting Performances -

Batsman	Innings	Not Outs	H/Score	Runs	Average
J. Cassidy	12	3	97 x	221	24.5
P. Denton	14	2	47	184	15.3
T. Andrews	2	1	101	159	159.0
A. Jackman	10	_	38	156	15.6
C. Harper	8	2	56	148	24.6
G. Bell	7	_	33	91	13.0
R. Harrington	6	1	30 x	84	16.8
N. Walker	7	-	27	83	11.9
P. Page	8	2	50x	75	12.5
P. Meehan	5	_	18	66	13.2
P. Heenan	7	-	25	65	9.3
R. Lindroth	3	_	48	64	21.3
W. Groenewald	2	-	40	46	23.0
N. Barnfield	1		35	35	35.0
E. Hicks	1	-	31	31	31.0
J. Hilton	6	_	13	46	7.6
M. Crompton	7	2	12	30	6.0
J. Nightingale	10	2	8	24	3.0
M. Wright	2	_	17	18	9.0
P. Wharton	1		16	16	16.0
M. Banbury	3	1	8	13	6.5
K. Knight	5	1	15 x	21	4.25
G. Ofield	2	_	10	14	7.0
P. Owen	1		5	5	5.0
M. Pendrey	2	_	7	7	3.5
D. Cordes	6	3	8x	12	4.0
I. Winnett	2	1	2	2 3	1.0
R. Laidlaw	1	-	3		3.0
K. Lowe	2	1	lx	2 2	1.0
M. Myres	2	_	1	2	1.0

<u>Bowler</u>	Overs	Runs	<u>Wickets</u>	<u>Average</u>
K. Knight	43	104	11	9.45
P. Denton	76	281	24	11.7
A. Jackman	128	428	23	18.6
T. Andrews	18	46	2	23.0
P. Meehan	14	98	4	24.5
N. Walker	14	56	2	28.0
J. Nightingale	119	453	16	28.31
P. Page	100	370	13	28.46
E. Hicks	22	58	2	29.0
C. Harper	46	177	2	88.5

E GRADE CAPTAINS' REPORT

Considering it was our first year in the competition, our 3rd Eleven had a fairly successful season and can now look forward to the future with a great deal of optimism.

With many of the team "unknown quantities" at the beginning of the season there were teething problems but as the year got into full swing we started to get our act together.

We began the season on a satisfactory note, losing narrowly in the "grudge" match to Wantirna in the first game then humbling Croydon United in our second encounter. This win was due almost entirely to a magnificent opening partnership of 208 between David Tattersall and Warren Groenewald and helped us reach our highest score of the season, 1 for 264. Plino Cordeiro's medium paced deliveries in this match yielded 6 for 56.

After a middle season slump it was pleasing to finish on such a high note with fighting wins in the last two matches against Mt. Evelyn and Norwood. Both wins were due mainly to a more consistent batting effort from all players.

Though we managed only three wins in eleven matches, the Thirds combined very well as a unit and the comradeship between players, both on and off the field, was of the highest order.

If the purpose of a Third Eleven is to foster young talent we certainly achieved in this regard too. Youngsters like Greg Meier, John Hilton and Mick Crompton will form the nucleus of a strong club in the future.

One department where we unfortunately fell down repeatedly was fielding, but with more emphasis placed on this most important facet of the game after Christmas the standard improved.

Peter Wharton and Plino Cordeiro E Grade.

E GRADE TEAM RESULTS

Captains

P. Wharton

P. Cordeiro

Vice-Captain

D. McDougall

Summary of Matches -

V. Wantirna	9/103	Templeton	10/87	Lost
V. Croydon United	10/181	Templeton	1/264	WON
V. Park Orchards	4/148	Templeton	8/64	Lost
V. Scoresby	6/172	Templeton	10/104	
_		_	10/48	Lost O'Right
V. Kilsyth	5/171	Templeton	10/69	-
<u>-</u>	0/43		10/135	Lost O'Right
V. Olinda	9/250	Templeton	10/128	•
		-	5/51	Lost
V. East Ringwood	4/230	Templeton	10/158	Lost
V. Glen Park	6/236	Templeton	10/69	
			7/86	Lost
V. Wantirna Sth.	7/291	Templeton	10/101	
		_	7/159	Lost
V. Mt. Evelyn	10/166	Templeton	9/252	
-	3/61	_		WON
V. Norwood	10/214	Templeton	10/221	
	3/81	_		WON

<u>Cames Played</u> - 11. Won 3. Lost 8.

Players reaching 50 or over in an Innings -

W.	Groenewald	84	V	Croydon United
D.	Tattersall	153	v	Croydon United
G.	Ofield	51	V	Wantirna Sth.
G.	Meier	68	V	Mt. Evelyn.

Players taking 5 or more wickets in an Innings -

P.	Cordeiro	6/56	V	Croydon United
Μ.	Crompton	5/97	V	Norwood

Wicket Partnerships -

lst	W. Groenewald	l –	D. Tattersall	208	V	Croydon United
2nd	D. Tattersall	. –	N. Walker	56	v	Croydon United
3rd	G. Meier	_	G. Ofield	70	v	Mt. Evelyn
4th	G. Meier	_	D. McDougall	68	v	Mt. Evelyn
5th	G. Meier	_	P. Wharton	52	v	Mt. Evelyn
6th	C. Harper	_	P. Wharton	27	v	Wantirna
7th	G. Meier	_	G. Ofield	20	v	Ringwood East
8th	G. Ofield	_	R. Lindroth	33	v	Ringwood East
9th	J. Potts	_	P. Wharton	77	v	Norwood
10th	K. Lowe	-	R. Laidlaw	21	v	Norwood

Individual Batting Performances -

Batsman_	Innings	Not Outs	H/Score	Runs	Average
W. Groenewald	1	0	84	84	84.0
G. Meier	6	1	68	126	21.0
C. Harper	2	0	33	38	19.0
G. Ofield	10	1	51	190	19.0
N. Walker	3	1	30	56	18.6
D. McDougall	13	0	41	213	16.38
J. Hilton	6	0	38	88	14.66
M. Myres	8	0	28	113	14.12
P. Wharton	12	1	48	167	13.91
M. Crompton	. 10	0	24	100	10.00
R. Harrington	6	0	20	58	9.66
P. Cordeiro	10	2	10x	93	9.30
R. Lindroth	5	2	26	45	9.00
M. Wood	2	0	14	18	9.00
C. Cordeiro	9	1	26	56	6.22
S. Gibson	5	2	14	24	4.80
J. Potts	4	4	15	19	4.75
K. Lowe	8	2	10	30	3.75
R. Laidlaw	5	2	8	15	3.00
D. Cordes	1	0	2	2	2.00
M. Wright	5	0	6	7	1.40
I. Wood	2	0	0	1	0.5
I. Blakebrough	3	1	1	1	0.3
T. Hurford	1	0	0	0	0.0
S. Barry	1	1	3x	3	
D. Tattersall	1	1	153	153	

Bowler	Overs	Runs	<u>Wickets</u>	<u>Average</u>
J. Potts	3	11	3	3.66
C. Harper	42	136	7	1 9.42
D. McDougall	39	139	7	19.85
R. Laidlaw	24	134	6	22.33
N. Walker	31	91	4	22.75
M. Crompton	75	344	15	22.93
K. Lowe	89	387	15	25.80
P. Cordeiro	44	239	9	26.55
G. Meier	8	32	1	32.00
G. Ofield	49	255	7	36.42
P. Wharton	36	150	3	50.00
C. Cordeiro	64	301	5	60.20
M. Myres	14	64	1	64.00

INDIVIDUAL MATCH POINTS - SENIOR PLAYERS

Points awarded as follows - l point per run, l5 points each unassisted wicket, l0 points each assisted wicket, l0 points each assisted wicket, l0 points per catch, per stumping and per run out. Throw outs l0 points.

PLAYER	BATTING	BOWLING	FIELDING	TOTAL
T. Andrews	207	35	-	242
J. Arnel	118	-	130	248
M. Banbury	114	-	50	164
N. Barnfield	235	15	5	255
G. Bell	154	_	5	159
I. Blakebrough	2	-	× -	2
J. Cassidy	237	-	55	292
C. Cordeiro	56	65	10	131
P. Cordeiro	93	105	15	213
D. Cordes	14	-	30	44
M. Crompton	130	220	10	360
P. Denton	184	280	50	514
S. Gibson	24	-	5	29
R. Gregory	148	495	10	653
W. Groenewald	362	10	20	392
C. Harper	186	150	30	366
R. Harrington	172	-	80	252
P. Heenan	65	-	30	95
E. Hicks	250	90	40	380
J. Hilton	136	-	50	186
T. Hurford	-	-	-	-
A. Jackman	156	305	10	471
K. Knight	21	130	5	156
R. Laidlaw	18	70	25	113
R. Lindroth	109		35	144

	PLAYER	BATTING	BOWLING	FIELDING	TOTAL
K.	Lowe	32	195	5	232
D.	McDougall	213	70	5	288
P.	Meehan	84	75	15	174
G.	Meier	128	10	5	143
M.	Myers	128	10	5	143
J.	Nightingale	24	165	10	199
G.	Ofield	204	75	20	299
P.	Owen	84	100	15	199
P.	Page	75	125	10	210
М.	Pendrey	36	-	10	46
s.	Pendrey	200	-	15	215
J.	Potts	19	40	-	59
D.	Tattersall	363	-	25	388
т.	Tormey	74	250	40	364
M.	Walker	139	65	15	219
P.	Wharton	183	25	10	218
G.	Williams	158	415	10	583
I.	Winnett	2	-	-	2
I.	Wood	1	-	-	1
М.	Wood	18	-	5	23
М.	Wright	7	-	-	7

POINTS ACCUMULATED BY TOP TEN PLAYERS

G.	Gregory Williams Denton	653 583 514
Α.	Jackman	471
W.	Groenewald	392
D.	Tattersall	388
E.	Hicks	380
C.	Harper	366
T.	Tormey	364
M.	Crompton	360

SENIOR GRADE TROPHY WINNERS

1st X1 W. Groenewald Batting Bowling G. Williams 232 runs. Ave. 33.14 36 wickets. Av.13.88 2nd X1 Batting J. Cassidy Bowling P. Denton 221 runs. Av. 24.5 24 wickets. Av.11.7 3rd Xl D. McDougall M. Crompton Batting <u>Bowling</u> 213 runs. Av. 16.38 15 wickets. Av. 22.5

ALL ROUNDER TROPHIES

B Reserve P. Denton 514 points
E. Grade G. Ofield 310 points

CLUB CHAMPION

R. Gregory 653 points

SPECIAL TROPHY WINNERS 1983/84

Batting Bl W. Groenewald 100x
E D. Tattersall 153x
B Reserve T. Andrews 101

Bowling B Reserve J. Nightingale 9/38

JUNIOR ADMINISTRATOR'S REPORT

Season 1 of the Templeton Cricket Club has been an unqualified success in terms of overall results, club participation and most importantly enjoyment of the game of cricket. Unquestionably the future of our new club lies in the hands of our juniors who, in the years to come will provide the "new blood" to continue on with the excellent start already made by our senior teams.

Those senior players who found themselves in situations where the opposition were anything up to 20 years younger than themselves are particularly anxious to develop our junior ranks to the levels obtained by the established clubs, notably Ringwood. One hopes with the continued enthusiasm of our juniors, our very hard working coaches and numerous parents, that this will be possible. Already the Committee of the club has provisionally approved a further 2 junior teams, a second U/14 team and an U/16 team. Numbers at hand indicate intense interest in these new teams. It would however be important to indicate that further boys are required to bolster these numbers. In our first season the provision of sufficient equipment, practice areas and coaches for the boys has been if not difficult, then at times severely strained. I cannot speak more highly of the time and dedication put into the coaching of our juniors by a hard core of parents, senior players, numerous mums and Norm Barnfield without whom junior cricket at our club would be nowhere near the first year peak it has reached.

I would like to compliment the boys on their care of our cricket gear. All too often today the provision of cricket gear owned by someone other than the individual is the signal for "all care and no responsibility". Thankfully the juniors of Templeton Cricket Club have taken great care of their cricket equipment even though the equipment itself must be enjoying the break after its continuous use at practice and in match play. The club does hope to be able to provide bigger and better practice provision in the next season notably in the area of practice nets. The Club Executive has made this priority Number 1 for 1984/85 however, with the lack of Council assistance (financial) the practice nets will become a real club venture requiring help from all club members.

Individual performances have been many and varied as will be reported later on by the various coaches. At this point rather than steal their thunder I will say no more on performance except to say that each individual who played with Templeton has made a definite contribution to our club. To those who did not receive trophies don't despair, as long as you enjoy your game of cricket you are a winner. As I have indicated 1984/85 is already underway for the Committee. We are hopeful in the very near future of announcing definite teams, coaches, grounds and training schedules. We are most definitely in need of coaches and team managers for our teams and would appreciate any offers of assistance in this area. Whilst on the subject of coaches, team managers and helpers can I take this opportunity to thank the following for their "giant" contribution to our junior cricket.

- John Nightingale, Mick Crompton, Tony Hurford, Des McDougall.

U/12-3-Paul Denton, John Sinclair (Scoring), Pat Meehan and numerous others. U/14-4-Norm Barnfield, Paul Owen, Ian Winnett, Howard Norton,

Ian Morrison & Ron Lovett.

I apologise to anyone that I have missed and trust you will accept my sincere thanks on behalf of the club. In conclusion can I thank all parents, boys and helpers; congratulate the trophy winners; console our ego's in not getting to the finals; thank the Executive (particularly Paul and Norm) for their expert help in my first year as Junior Administrator and hope that the winter passes swiftly so we can return to the cricket fields for yet another year.

> John Cassidy Junior Administrator.

U/14 GRADE 4 COACH'S REPORT

Season 1983/84 started extremely well with a great win over Vermont but from that time on we could not perform consistently well enough to put two wins together.

There were several individual performances throughout the season that makes coaching junior players so rewarding. Adrian Hyland's rapid improvement with the bat making 41, 52, 70x and 34 in his last four innings. Dean Morrison's determination as an opening batsman in the last two games and Martin Woods consistent wicket taking, were highlights.

It was very pleasing to see many fathers helping out of a Saturday morning with Ian Winnett, Ron Lovett, Ian Morrison and Howard Norton always ready to assist. Ian's cup of coffee and biscuits at the morning tea break was certainly appreciated. It's terrific to have the dads involved.

The boys have to realize that the only way to make runs is to spend the most time possible at the batting crease and to accept catches when the opposition offer them, then they will be a very strong combination.

With a full season of cricket behind the boys and several good U/12's coming to U/14 next season, the club is looking forward to fielding a strong side.

Congratulations to all trophy winners. See you all season 1984/85.

Norm Barnfield.

P.S. I wonder how many new ways Josh can find to injure himself next season?

U/14 Grade 4 TEAM RESULTS

Captain: M. Wood. Vice-Captain: A. Hyland.

Sun	mary of Matches -				
v.	Vermont	10/70	Templeton	5/81	WON
v.	Ringwood	4/85	Templeton	10/38	
				6/40	Lost
V.	Wantirna	6/47	Templeton	8/34	Lost
v.	Croydon Nth.	10/91	Templeton	10/124	WON
v.	Warrandyte	8/102	Templeton	10/44	Lost
v.	Croydon United	9/78	Templeton	7/67	Lost
v.	East Ringwood	9/106	Templeton	10/128	WON
v.	Sth. Croydon	8/181	Templeton	10/126	Lost
v.	Wantirna Sth.	10/139	Templeton	3/168	WON
v.	Croydon Hockeyers	7/182	Templeton	8/118	Lost

Games Played - 10. Won 4. Lost 6.

Individual Batting Performances -

<u>Batsman</u>	<u>Innings</u>	Not Outs	H/Score	Runs	Average
A. Hyland	8	1	70x	247	30.87
R. Shakes	8	1	31x	137	17.12
M. Wood	10	0	33	108	10.80
T. Norton	2	4	11x	18	9.00
J. Stanley	10	0	19	72	7.20
S. Lovett	7	1	20x	45	6.42
D. Morrison	7	0	18	41	5.85
J. Mullen	5	2	10	28	5.60
A. Winnett	2	4	4x	10	5.00
M. Vennard	8	2	12	33	4.12
E. Johnston	6	0	7	22	3.66
J. Dwyer	1	0	3	3	3.00
M. Krzywak	1	0	3	3	3.00
R. Lines	1	0	2	2	2.00
A. Cleaves	4	0	7	7	1.75
M. Cole	1	0	1	1	1.00
N. Hansford	3	1	2x	2	0.66
P. Wilson	2	1	0	0	0.00

Bowler	<u>Overs</u>	Runs	<u>Wickets</u>	<u>Average</u>
M. Vennard	19	88	15	5.86
T. Norton	19	39	5	7.80
R. Shakes	41	87	11	7.90
E. Johnston	18	56	7	8.00
M. Krzywak	5	17	2	8.50
M. Wood	83	220	20	11.00
A. Hyland	55	132	6	22.00
S. Lovett	22	51	2	25.50
J. Mullen	42	128	5	25.60
D. Morrison	6	14	0	0.0
A. Cleaves	4	17	0	0.0

U/12 GRADE 3 COACH'S REPORT

Looking back over the season just completed I can honestly say that the future of our club is in very good hands.

The boys who represented Templeton Cricket Club during their inaugural year can be proud, both of their club and the way in which they have played the game of cricket.

At the start of the season there were some boys who had not previously played cricket and others had very little experience. Together these boys teamed up and became very formidable opponents, which all sides found out as the season progressed.

It makes me feel extremely proud to see the improvement in the boys from the first game against Scoresby when the side was all out for twenty-nine with extras being sixteen, to the games against Bayswater Park where we were nine wickets down for two hundred and eleven and the game against Heathmont Uniting where we made on hundred and eighty three on our own ground which is a better score than several senior sides made during the season.

My congratulations go to the trophy winners in all junior sides, but remember boys that cricket is a team game and although some of you did not win a trophy you are just as important to the club as are the trophy winners.

I take this opportunity of thanking all the boys in the side for a really great year. My sincerest thanks go also to Pat Meehan, John Sinclair and Chris Harper for their assistance throughout the year and to all parents for their support.

Finally, I would repeat my opening remarks and say that with boys like we have had this season the future of our great club is in very good hands.

Paul Denton.

U/12 Grade 3 TEAM RESULTS
Captain: J. Denton. Vice-Captain: S. Meehan

Sun	mary of Matches -				
v.	Scoresby	5/74	Templeton	5/74	Lost
v.	Warrandyte	5/41	Templeton	10/41	Drew
v.	Vermont	8/76	Templeton	9/39	Lost
v.	Olinda	10/73	Templeton	9/102	
				4/23	MOM
v.	Kilsyth	9/81	Templeton	10/68	
				8/25	Lost
v.	St. Andrews	8/46	Templeton	9/49	MOM
v.	Bayswater	6/98	Templeton	9/211	MOM
v.	Ainslie Park	10/112	Templeton	9/139	MOM
v.	Ringwood R.S.L.	10/161	Templeton	10/72	
				10/39	Lost O'Right
v.	Heathmont Uniting	10/183	Templeton	10/99	MOM

Games Played - 10. Won 5. Drew 1. Lost 4.

Individual Batting Performances -

	Batsman	Runs	<u>Average</u>
М.	Wilson	38	38.00
М.	Snell	143	17.87
J.	Denton	117	16.71
C.	Winnett	91	13.00
s.	Meehan	80	7.27
M.	Landy	25	6.25
s.	Harper	49	6.12
P.	Harper	29	4.14
D.	Cartwright	31	3.87
J.	Muldoon	11	3 .6 6
М.	Strickland	16	3.20
s.	Denton	3	3.00
s.	Thomson	19	2.37
D.	Phillips	21	2.33
D.	Gibson	23	2.30
K.	Hew	15	2.14
s.	Cartwright	2	2.00
N.	Greening	1	1.00
S.	Sinclair	4	0.57

Bowler	Overs	Runs	Wicke	ts <u>Average</u>
K. Hew	20	36	6	6.00
D. Phillips	21	47	7	6.71
M. Strickland	21	42	6	7.00
J. Denton	63	112	15	7.46
S. Meehan	59	140	14	10.00
S. Harper	60	172	15	11.46
M. Wilson	14	33	2	16.50
S. Sinclair	5	24	1	24.00
M. Snell	43	87	3	29.00
D. Cartwright	21	72	1	72.00

U/12 GRADE 5 COACH'S REPORT

During the season 1983/84 the second under twelves had a very exciting first year. They went through the year with only four losses. Two of these being by less than 5 runs. What makes this an even better effort is the fact that they had 27 players during the season and most of these had never played the game before.

 Λ few of the highlights of the season were Dustin Hurford's first run, two wins of winning margins less than five, the improvement of many players such as D. Portwine, C. Catania and M. Vance.

I would like to thank my assistant coach Michael Crompton who pulled himself out of bed every Saturday morning no matter how tired he was from the night before. I would also like to thank the parents that turned up during the year and for the assistance that many of them gave. A special thanks to Des McDougall for his scoring efforts during the year with a special mention of the match against Kilsyth where he had three batsmen in at the same time.

But all jokes aside I can see the boys with one season of experience behind them, improving into a very good side in the future.

> John Nightingale. (Ron Barassi, eat your heart out).

U/12 Grade 5 TEAM RESULTS

Captain & Vice-Captain: Changed each week to give boys a turn.

Sum	mary of Matches -				
v.	Croydon United	5/113	Templeton	9/121	WON
v.	Kilsyth	10/68	Templeton	9/65	Lost
v.	Lilydale	7/36 & 10/40	Templeton	10/52 & 10/53	WON O/R.
v.	Ainslie Park	10/105 & 6/56	Templeton	4/95 & 6/104	WON O/R.
v.	Norwood	Scores not kept.			WON
v.	South Ringwood	7/130	Templeton	9/123	Lost
v.	Scoresby	10/118	Templeton	10/119	WON
v.	South Warrandyte	10/233	Templeton	10/261	WON
v.	Olinda	10/137	Templeton	5/150	WON
v.	Vermont	10/308	Templeton	10/151	Lost

<u>Cames Played</u> - 10. Won 7. Lost 3.

Individual Batting Performances -

Pataman	E. Dung	Arrowago.
<u>Batsman</u> Muldoon	<u>Runs</u> 56	<u>Average</u> 9.33
Poustie	6	6.00
Slender	45	9.00
McDougall	27	6.75
Landy	34	6.80
Perna	44	5.50
Denton	98	10.88
Harris	78	13.00
Catania	8	2.66
Vance	89	14.83
Hurford	36	3.60
Portwine	28	7.00
Little	8	1.6
Coppla	6	1.5
Johnson	4	.44
Marshall	1	0.33
Cumming	12	4.00
Pettibrown	2	2.00
Wilson	54	10.8
Cartwright	2	0.66
Morrison	9	1.29
Woolam	21	2.25
Greening	30	7.5
Gibson	35	17.5
Strickland	15	3.0
SCRICKIANO	13	3.0

Individual Bowling	<u>Performances</u>	-		
Bowler	Overs	<u>Runs</u>	<u>Wickets</u>	<u>Average</u>
Slender	24	42	9	4.70
Denton	40	88	9	9.77
Perna	7	17	3	5.66
Muldoon	14	14	3	4.66
Vance	30	75	6	12.50
Harris	27	49	9	5.44
Hurford	20	68	2	34.00
Landy	2	1	1	1.00
Catania	13	32	4	8.00
Morrison	18	36	5	7.20
Cartwright	4	17	1	17.00
Wilson	21	68	7	9.71
Pettibrown	1	4	1	4.00
McDougall	30	75	11	6.81
Coppla	12	9	2	4.5
Woolam	3	1	3	.333
Greening	7	8	1	8.0
Strickland	16	46	2	23.0
Gibson	7	16	3	5.33

JUNIOR TROPHY WINNERS

<u>U/14 - 4</u>	Batting	A. Hyland	247 runs	Av. 30.87
	Bowling	R. Shakes	11 wickets	Av. 9.27
	All Rounder	M. Wood	408 points.	
<u>U/12 - 3</u>	Batting	M. Snell	143 runs	Av. 17.8
	Bowling	J. Denton	15 wickets	Av. 7.40
	All Rounder	J. Denton	362 points.	
<u>U/12 - 5</u>	Batting	M. Vance	89 runs	Av. 14.83
	Bowling	S. Denton	9 wickets	Av. 9.77
	All Rounder	D. McDougall	243 points.	

JUNIOR CLUB CHAMPION

M. Wood

408 points.

SPECIAL TROPHY

U/12 - 3. S. Harper 6/23

JUNIOR CLUB CHAMPION TOP 10

<u>Player</u>	<u>Batting</u>	<u>Bowling</u>	<u>Fielding</u>	<u>Points</u>
M. Wood	108	270	30	408
A. Hyland	247	70	60	377
J. Denton	117	205	40	362
R. Shakes	137	120	40	297
S. Meehan	82	17 5	10	267
D. McDougall	28	160	55	243
P. Wilson	92	120	30	242
S. Denton	98	130	10	238
S. Harper	62	160	5	227
G. Harris	78	135	10	223